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*     Vtime       ^  OUT
*        ____    /_\
*  VT  _|_   |   _|_
*     /_  \  |  /_  \
*    // \  \ |_// \  \
*    \   \//   \   \//
*     \___/     \___/ B1
*       |         |
*      _|_       _|_
*      ///       ///
*
*   spec   start_f      stop_f step_f vector [vector ...]
*   spec  2      2k     2      v(out) spec 2Hz->2kHz @ 2Hz steps
*  .tran  TSTEP  TSTOP  TSTART TMAX   ?UIC?
*======== ====== ====== ====== ====== ====== ====== ====== ====== ====== ======
VT        Vtime  0      PWL    ( 0 0 1 1 )
B1        OUT    0      V =    sin(2*3.142*200*v(Vtime))*(1 +sin(2*3.142*10*v(Vtime)))
.tran    .5m     1      0      .5m   

.control
set      pensize = 1
run
plot     Vtime  
plot     v(out) 

linearize
set     specwindow = "blackman"
spec    1       500   1     v(out)
plot    db(v(out))  
set     pensize = 2
plot    db(v(out))   xlimit 180 220 ylimit 0 -20
set     pensize = 1
.endc

.end
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The total sample period is 1sec(1Hz)
The Carrier is at 200Hz.
Modulation is at 10Hz at 100% modulation



B1       OUT    0      V =   sin(2*3.142*200*v(Vtime))*(1 + sin(2*3.142*10*v(Vtime)))




